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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [['I", "lopt’], ['T, "Topt’], ['RH", 'RHopt'], [ ETcl’, ’'optETcl’], ’'LAI’,
T

" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]
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3000

Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r—o',

"PHO:g—o’ ]]
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P3-1

BfiE) | EBAK ) | EHE (EARA/K) | BERERE (B/R) | KR R

07:40 283 150. 0 2.583 5| FHfe07:40 KHIEF (REMERER)
08:10 283 150.0 2.583 BH| FnHA@08:10 KR4ANF2F (KRHAfEREE)
08:40 283 150.0 2.583 PR 7HR@08:40 KREIZHF (KAL)
09:15 283 150.0 2.583 FA| FHA@09:15 KRENFEF (ARFAEES)
09:45 283 150.0 2. 583 FR| FHA@09:45 KRENFZF (KRFAAIREES)
10:15 283 150.0 2.583 FA| FnHA@10:15 KRFFEF (KAERKE)
10:45 283 150.0 2.583 FA| FHA@10:45 KENFZF (KRFAEES)
11:15 283 150.0 2.583 FH| FnHf@11:15 KRFEF CGRAERS)
11:45 283 150.0 2.583 FA| FnHR@11:45 KRFEF (KAERKSE)
12:15 283 150.0 2.583 P FiHBe12:15 KENFEF (RFAEREEE)
12:45 283 150.0 2.583 FR| FhHA@12:45 KREFZF (RFAEES)
13:15 283 150.0 2.583 FA| FnHR@13:15 KRFEF (KAERKE)
13:45 283 150.0 2.583 FH| FiHB@13:45 KEIEF (GRAAEREEE)
14:15 283 150.0 2.583 FR| FHA@14:15 KREFZF (KRFAEES)
14:45 283 150.0 2.583 FR| FHA@14:45 REIZF (RAERES)
15:15 283 150.0 2.583 FH| FiHB@15:15 KEFEF (GRAAEREEE)
15:45 283 150.0 2.583 FR| FhHA@15:45 KREFZF (KRFAEES)
16:15 283 150.0 2.583 FR| FhHA@16:15 KREIZF (RAEREHS)
16:45 283 150. 0 2.583 FH| FiHB@16:45 KEFEF (GRAAEREE)
17:15 283 150.0 2.583 FA| FhHA@17:15 KREFEF (REAEHS)
21t] 5660.0 (20)%) 3000. 0 3EGHKEC: 2080.0, PH: 5.6

RE X it B RECEUIR Bk

FHEIKECE (1773.0 vs 4440.0) 35
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FRV (ml plant-1)

ET (ml/hr/plant)

P3-1_0, Day=68 (2025-06-05)
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P3-1

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

08:35 273 150.0 2.583 5| {Ri%@08:35 Bz (KRFAERSE)
09:10 273 150. 0 2.583 E[ BRi%e09:10 Bz (GRAERSE)
09:45 273 150.0 2.583 F BRi%e09:45 BE1 (GREERE)
10:25 273 150.0 2.583 = {Ri%@10:25 B (RAERSE)
11:10 273 150. 0 2.583 El BRige11:10 Bz CGRAERESE)
11:50 273 150. 0 2.583 S {Ri%e11:50 Bz (GRAERSE)
12:25 273 150.0 2.583 =l RiBe12:25 B (REAKESE)
13:10 273 150. 0 2.583 E BRige13:10 Bz (GRAERESE)
13:50 273 150.0 2.583 5| {Ri%e13:50 B3 (GRAERSE)
14:25 273 150.0 2.583 = RRiB014:25 B (RFEAEESE)
14:55 273 150. 0 2.583 E BRige14:55 Bz (GRAEREE)
15:35 273 150.0 2.583 5| {Ri%e15:35 B3 (RAERSE)
16:20 273 150.0 2.583 =l RRiB016:20 B (RFAKEESE)
23t 3549.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

large discrepency for begining water status (30:204.0), set to 30 ml.
BE X 17 [o] /RECET B B k.

BEEIRECE (1780. 0 vs 4440.0)53 5
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455 460 465
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28 - —— MW
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P3-1

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

07:25 300 150.0 2.583 S| {Rig@07:25 Fzh (KRAERSE)
08:05 300 150. 0 2.583 E  BRi&%e08:05 F a1 (RAERE)
09:10 300 150.0 2.583 F[ BRi1%e09:10 Fa1 (GRAEREE)
09:55 300 150.0 2.583 S| {Ri%@09:55 F i (KRAERSE)
10:45 300 150. 0 2.583 E BRi%010:45 Fz1 CGRAERESE)
11:30 300 150. 0 2.583 = Rig011:30 Fzh (RAEESE)
12:10 300 150.0 2.583 =l RiB0@12:10 Fzh (RFAKEE)
12:50 300 150. 0 2.583 E BRige12:50 Fz1 GRAERESE)
13:35 300 150.0 2.583 5| {Ri%e13:35 F3 (RAERSE)
14:10 300 150.0 2.583 =l RRiB@14:10 Fz (RFAKEESE)
14:45 300 150. 0 2.583 E BRige14:45 Fz1 CGRAERESE)
15:25 300 150. 0 2.583 El 1BRi&e15:25 Fz CGRAEREE)
16:10 300 150.0 2.583 =l RRiB@16:10 Fzh (REAKEEE)
=23t 3900.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

RE X B TRECHUR B oK.

#[EKECE (1860.0 vs 4770.0) 35
RER B HEREC/PHIE Rk, AT RERNIHRELR SR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=66 (2025-06-03)

T e g g S S S B S g s

100 A

50

200 -

100

VI, VOFRY, ET - VI, VO, FVI, EVO, FRV, ad jFRV, ET

448
1200

Warning: lcol [FVI',| "FVO’'] missing

1.0

Warning: lcol ["WC1',  "WC2'] missing

- 28

- 24

22

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.0

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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26.

25.

25.

24.

24,

28.

27.

27.

26.

26.

25.

m=435, FV0=0

29 1
——
28 - 27
27 1 26 -
26
25
25
24 - 24 A
T T T T T T
400 600 800 435 440 445
m=635,m FV0=0 m=680,m FV0=0
28 -
0 -
27 4
5 -
0 26
5 -
25
0 -
T T T T T T
635 640 645 680 685 690
m=815,m FV0=0 m=865,m FV0=0
0 27.25 4
5 27.00
0 26.75 -
5 26. 50
0 26. 25
5 26. 00 -
T T T 25 75 B T T T
815 820 825 865 870 875
m m=435,m FV0=0
30 S 30
—o—
28 28
26 7 26 - oo
24
24 4
22
22
20
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600 800
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27.
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29.

28.

28.
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26.

28.

28.

27.

27.

26.

26.

m=530, FV0=0

T T
535 540

m=720,m FV0=0

T T
725 730
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m=530,m FV0=0

27 -

26 -

25 -

24 -
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535 540
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27.
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27.
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26.
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01 —8— ME
5 .
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0 .
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0 .
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0 .
5 .
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5 .
0 .
5 .
0 .
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271 —— MW
26 -
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24 -
23 -
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T
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P3-1

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

08:15 273 150.0 2.583 = {RRiB008:15 Bz (RFAEEE)
08:50 273 150. 0 2.583 E  1BRi&e08:50 Bzl (RAERE)
09:35 273 150.0 2.583 5| {Ri%@09:35 B3 (FRAMERSE)
10:15 273 150.0 2.583 =l RRiB010:15 Bz (REAEESE)
11:05 273 150.0 2.583 =l RRiBe11:05 Bah (REAKEE)
12:00 273 150. 0 2.583 5| {Ri%e12:00 B3 (RAERSE)
12:35 273 150.0 2.583 = {Rige12:35 B3 (RAERSE)
13:10 273 150.0 2.583 (Z=| 1Ri%@13:10 Bz (REERSE)
13:40 273 150.0 2.583 (£=| {Ri%e13:40 B3 (REAEDSE)
14:10 273 150.0 2.583 (Z=| 1Ri&e14:10 Bzh (RAERSE)
14:40 273 150.0 2.583 (Z=| 1Ri%e14:40 Bz (REAERSE)
15:10 273 150. 0 2.583 |Z=| BRige15:10 Bz (GRAERESE)
15:45 273 150.0 2.583 |Z=| BRige15:45 Bzh (GRAEEE)
16:30 273 150.0 2.583 (Z=| 1Ri%@16:30 Bz (RAERSE)
21t 3822.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.6

R FERRETC (600) 57EA (278. 0) 1%, Al REH T % AREERS %2 X ER
2RI\ L PRIERE324. 0 ml.

[@;&REC 5380.0 K&, E#iNMF{KECAR & M%E R

HEEIRECE (1907.0 vs 5380.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1500 ~

1000 ~

P3-1_0, Day=65 (2025-06-02)

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1931 S0

570 70440
146 Warning: lcol ['FVI',| "FVO'] missing 0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0 t
Warning: lcol ['ECB’,| 'ECC’'] missing
optPHO=6.5, setPHB=5.6 t
Warning: lcol ['PHB’,| 'PHC’'] missing
I -
By|ni‘t: @D68 01:46: ET=1622 Fg=1800.0 Ro=242.0 t
| i
1
1
| —
: -
:
& ) —  —
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ok = *®  — ||
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1
! A/4l//i[/| -
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m=520, FV0=0 m=535, FV0=0 m=660, FV0=0

26.0

o— me | 2707 o— we| 2607 o we
25.5 26. 5 - 25.5
25.0
25.0 26.0 -
24.5
24.5 25.5
24.0
24.0 25.0 7 23 5 4
T T T T T T T 24 5 - T T T 23 0 - T T T
600 800 1000 1200 520 525 530 555 560 565 660 665 670
m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0 m=905,m FV0=0
24.0
26.5 —e— MNE —o— ME - ME 24.0{ —@— ME
23.5 A 235
26.0 - 23.5
25.5 - 23.0 1 23.01
23.0
25.0 - 22.5
22.5 22.5
24.5 29 04
24.0 22.0 22.0 1
T T T T T T 21 . 5 T T T T T T
720 725 730 780 785 790 840 845 850 905 910 915
m=960,m FV0=0 m=1100m FVO=0 m=1165m FVO=0 m
23.751 —@— M_E 21.70 1 - ME 281 —e— ME 301 —0— MW
23.50 21. 65
26
23. 25 -
21. 60
23.00 241
21. 55
22.75
22
22.50 21.50 A
960 965 970 1100 1105 1110 1165 1170 1175 600 800 1000 1200
m=520,m FV0=0 m=553,m FV0=0 m=660,m FV0=0 m=720,m FV0=0
24 - 25 1
—— MW —— MW —— MW —— MW
26 - 28 1
93 24 4
’5 27 4
. 23
26
24 99
25 21 A
23 A 21 4
24 4 20 4
520 525 530 555 560 565 660 665 670 720 725 730
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18.
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18.
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m=780, FV0=0

23 —— MW
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m=1100m FV0=0
60 7 —— MW
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T T
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m=905, FV0=0
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P3-1

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS R

08:55 273 150.0 2.583 Z| {Ri%e08:55 B (KREAEZEHE)
10:05 273 150. 0 2.583 =| {Ri%@10:05 Bz (GRAEHSE)
12:25 273 150.0 2.583 FA| {Ri%@12:25 Bz (GRAEEE)
13:15 273 150. 0 2.583 FA| 1BRi%@13:15 Bzh (RkAEREE)
14:05 273 150.0 2.583 FA| 1BRi%@14:05 B3h (RAERESE)
15:00 273 150.0 2.583 FA| 1BRi%@15:00 B3h (KRAHERSE)
Bit]1638.0 (6%) 900.0 32 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (392:48.0), set to 392 ml
[ /&EC 6213.0 K&, EiIUAKECAAIMIAER
BE[EIRECE (2007. 0 vs 6213.0) i 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=64 (2025-06-01)

150 A

100 A

50

VI, VB*2RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1200

772

60

Warning: lcol [FVI',| "FVO’'] missing 146

- 1500

- 1000

- 500

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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27 L T T T T
500 600 700 800 900
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T T T T T
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32 . —— M_W
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75 1

50 -

25 A

00 ~

——

M_E

T
605

61I 0
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